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(s-t) 

(1)

s

m 
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x y

OX OY 

cm 

cm 
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x- y-

t s

(s) (m)

1 0 0

2 1 10

3 2 20

4 3 30

5 4 40

6 5 50

7 6 60

8 7 70

9 8 80

10 9 90

11 10 100
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s
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2
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2
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2
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1
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1
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t
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s
1

s
2

t
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t
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      (s)           (s) (m)       (m)       (m s-1)
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(v – t) 

u t
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t

v

(s) (m s-1)

1 0 0

2 5 10

3 10 20

4 15 30

5 20 40

6 25 50

7 30 60

8 35 70

9 40 80

10 45 90

11 50 100

cm cm
y-

cm cm 

x- y-

x-

y- 

x- 

1

5  = 1 cm;

10 m s-1 = 2 cm 

O x- cm 5 s, 10 s,

15 s.... y- O 2 cm 

10 m s-1, 20 m s-1, 30 m s-1

A

t v

(t
1

v
1
,) (t

2
, v

2
) (t

2
 – t

1
) 
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t
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v
1

v
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1

t
2

     (s)         (s) (m s-1) (m s-1) (m s-2)
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4
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t = 10 s 20 s T

= ______ m s-2
.

17/04/18



126

=  m; 

 = ..... m

•

•

•
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B

A B A 
A B B
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(0 – 5 N; 0 – 500 g), 
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A B,

B 

(w) [ (m) (g)] 

A B 
B A 

B A 

M 100 g (M + m) 

(i) = __ –– __ N or ___ –– ___ g

(ii) = __ –– __ N or___ –– ___ g
(iii) (g) = ___ m s-2

 (iv) m    = _____ g = ___ kg

(v) w = m (in kg) g    = ___ N.

A A B F
A 

F
B

A 

M
(M + m) (M + m)  g

F
a  

F
B

(g) (g) (kg) (N) (g) (kg) (N) (g) (kg) (N) (N)

1. 0

2.

3.

4.

5.
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•

•

•

•

•

(g) 
'g' 

•

(N) 
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•
g g
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= + (g)
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100 g

(M) 

(p) 20 g

17/04/18



135

(q) 200 g
(q) 

(i) = ______ g

(ii) = ______ g

 (iii) M = ______ g

 (iv) m = ______ g

 (v) g = ______ m/s2

q       =  m + p  = 

= M + q  = (m + p)g

p

(g) (g) (kg) (g) (g) (kg) (kg m/s2) or (N)

1. 0

2.

3.

q       (m + p)  = 

(M + q)  = (m + p)g

p

(g) (g) (kg) (g) (g) (kg) (kg m/s2) or (N)

1.

2.
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•

(m)  (M)
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•
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• 100 g x N 
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•

•

17/04/18



139

mL mL

(N) N 
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[ (a) ]

(b) 

(c) 
(a)

(b) (c)
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(i) = _____ g = _____ N

(ii) = _____ g = _____ N

 (iii) = _____ mL

 (iv) = _____ mL

(v) W
o

= _____ N

[ W0 = Mo (kg )  g (m/s2 )]

 (vi) = _____ g/mL

 (vii) (g) = _____ m/s2.

W= W
0
 – W

1 

W = m
o
g – m

1
g      V W

w 
= V

Tap 
g

W ~ W
w

W
1

(or m
1
g)

(N) (N) (mL) (N) (N)

1.

2.

3.

4.
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_____N) 
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•

•

•

•

•

•

• (i) ; (ii)

•
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(i) ; (ii) 

100 mL 1 mL

N 
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(m1a) 
(w1a) [ (b)]|

[ (a)]|

(c) 

(a)

(b) (c)
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m
a

w
a

= m
a

g
Tap SSW

(g) (kg) (N) g/mL kg/m3 g/mL kg/m3

1.

2.

W
STap

V
Tap

 =

V
Tap Tap

g
W

STap
 ~ W

WTap

/

                W
Tap

                  (g)    (kg)    (N) (N) (mL) (m3) (N) (N)

1.

2.

A. 

V
tap

(m ) (w )  

(i) = __ –– __ N or __ –– __ g

(ii) = __ N or ___ g

(iii) (g) = __ m s-2

(iv)
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B. 

•

•

•

•

•

•

•

•

•

W
SSSw

V
SSW

W
WSSW

 =

V
SSW SSW 

g W
SSSW

~W
WSSW

/

W
SSSW

(g)    (kg)  (N)        (N) (mL) (m3) (N) (N)

1.

2.
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(500 mL) 
( –10 ºC — 110 ºC), 

300 mL 
38.1

38
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40 °C 

 10 °C 

5 °C 

),  = ___ °C = ___ K.

t

(°C) = - (ºC)

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.
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x- y-
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•  40 °C 
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•

•
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(a) P 

R 

(b)

39

 39.1: (a)  (b) 

(a) (b)
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m 

1.5 m 

39.2(a) 

0° - 180° 
90° 

C 
[  39.2(b)]|

(a)

 39.2 : (a)

(b) 

(b)

1 m

 39.2(a). 

CP

(AB) 

(MN) 

O 

[ 39.2(b)]

AD MN

O
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 T = t/n

a n t

(cm) (°) (s)    (s)

1. 4

2. 8

3. 12

4. 16

5. 20

6. 25

7. 30

AB O cm 

O P 
AB O OA
OB

P O

A B OA
1 

OB
1

n

n

n 

i. = ___ s

ii. , d = ___ cm

iii. , r = d/2 = ___ cm

iv. [ + ] l = ___ cm

v. L (= l + r) = ___ cm
= ___ m.
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L a T, 

a y- T x-

 10°, 

•

•

•

•

•

•

AB

•

•
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•

•

•

n = 10 

•

•

• (i) 

(ii) 

•

•

•

•

• 39.2(b) 

•
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 [ 40.1(a)] CP 

P R 

 [ 40.1(b)]

40

(a) (b) 

(b)(a)
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40.2: (a) (b)

1.5 m 

1.5 m

40.2(a) 

1 m

40.2(a) CP 

(AB) 

(MN) 

O 40.2(b) O

AB MN

O, 

O P 

AB 

(O) 

X Y 

O 10 cm 

10°

(b)(a)
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L = n T2

+ 

+ , r t T = t/n T

(cm) (m) (s) (s) (s) (s2)

1.

2.

3.

4.

5.

6.

n 10

n

L

7 8

(i) = ___ s

(ii) , d = ___ cm

(iii) , r = d/2 = ___ cm

(iv) , n = ___

 (v) [ + ] l = ___ cm

(vi) , L (= l + r) = ___ cm

= ___ m.
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40.3: L T2 

L, 

T2, L x- T2 y-

40.3)

•

•

•

•

•

•

AB

•

•
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•

•

(n)

n =10

•

•

•

•

•

•

•

• 40.2(b) 

•

• (L) (T)

•
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O 

[ 41.1 (b)]

(a) (b)

41

(a) (b)
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1.5 m 

1.5 m m
1 

d
1

41.2(b)

L, 1 m). 

41.2(a) CP 

 41.2: (a) 

 (b) 

 (AB) 

(MN) 

[Fig. 41.2(b)] 

 O 

AB MN 

O, 

O P 

AB 

X Y 

10 cm 

10° 

(a)

(b)
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n

m        l = l + r + h            t T = t/n

(g) (cm) (cm) (s) (s) (s)

1. m
1

__ L __ __ __

2. L __ __

3. m
2

__ L __ __ __

4. L __ __

5. m
3

__ L __ __ __

6. L __ __

m (g) d (cm) r (cm)          h (cm)

 m
1 
= d

1 
=    r

1 
= h

1 
=

 m
2 
= d

2 
=    r

2 
= h

2 
=

 m
3 
= d

3 
=    r

3 
= h

3 
=

n 10

n

8 n

(m
2
) (d

2
) 

L

n

8 9

10

(i) = ___ s

(ii)

(iii) , L = + r + h = ___ cm = ___ m

(iv) , n = ___ .
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•
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•

AB 
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•

•

•

n n = 10) 

•
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[ 42.1(a-g)] l

t (v) 

0.5 cm 10 m 

42
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(l1)

 42.1(a-g): 
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[ 42.1 (a-g)]

l
2

n

i. =  _____ s

n

l            t T  (= t/n) v = l/T

(m) (s) (s) (m/s)

1. l
1
 = v

1 
 =

2. l
2
 = v

2  
=

3. l
3
 = v

3 
 =
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(l) (T )

l
1
 ( 43.2) 

1 cm 

42.2 

(l)
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 43.4 (a-g):

43.3

(a)

(c)

(b)

(e)
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43.4 (a-g) 

n

n

n

l1

l2, l3

= _______ s.

n

t T = t/n       v = l/T

l

    (m) (s)        (s)  (m s-1)

1 l
1
 = v

1
 =

2 l
2
 = v

2
 =

3 l
3
 = v

3
 =
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( r) ( i) 
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1 m 10 cm 
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PQ) OC 
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